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A particle shows distance-time curve as
shown in the figure. The maximum
instantaneous velocity of the particle is
around the point
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Which of the following graphs correctly
represents the variation of ‘g’ on the
Earth ?
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A cup of tea cools from 65:5°C to 62:5°C in
1 minute in a room at 22-5°C. How long
will it take to cool from 46-5°C to 40-5°C
in the same room ?

(A) 4 minutes

22:5°C ZHBININCOSE BeeBoDE) 20T
B° 8B 65-5°C Q0T 62-5°C 1} 1 RWREE,
Zomorudd. edle dReRoA), 46-5°C JoT
40-5°C 1 Somoned o) ISood

3RRBRNZS ?
(B) 2 minutes (A) 4 AN
(C) 1 minute (B) 2 AN
@) Siminptes © 12%R
(D) 3 QRN
4. The dimensions of the ratio of magnetic
flux (¢) and permeability (u) are Reveag EE}“E: OB méagé W e
_ BITOIT BSOINTOR) e3NT3.
A) MOLTO Al
A) MOLITO AL
B) MOL3T0AY i ]
@) MOL3T10Al
©) MOLIT!AY
086k ©) M™Mo°LiTiAY
() [M°1L3TPAY .
D) M™M°L21%AY
8. A mass ‘m’ on the surface of the Earth is GR00D BtOCoR ¥ Q@Eﬁ
shifted to a target equal to the radius of g‘%méw&@t A0 %a&ﬁa mmd
the Earth. If ‘R’ is the radius and ‘M’ is TECDQDT MO F$RoZORTONGS.
the mass of the Earth, then work done in PRMAD &% R’ &R BF00d M’ SATS,
Wi procheg & 30300308 SO FORS TRweD
esN0O3T.
(A) ngR B mah :
(A) ngR (B) mgR
R
(C) 2mgR (D) 2=
4 (C) - 2 mgR (D) ngR
Space for Rough Work / 2,88 ivﬁi %‘#
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First overtone frequency of a closed pipe
of length ‘1, is equal to the 2°d harmonic
frequency of an open pipe of length /5.

The ratio E—l =
Iy
3 4
A) — B) —
(A) 1 (B) 3
3 2
(C) 2 (D) 3

The resistance R = % where

V=(100+5)VandI= (10 + 0-2) A.
The percentage error in R is

(A) 52%
(B) 4'8%
C) 7%
(D) 3%

A block rests on a rough inclined plane
.making an angle of 30° with the
horizontal. The coefficient of static
friction between the block and the plane
is 0:8. If the frictional force on the block
is 10 N, the mass of the block is
(g =10 ms2)

Iy OBHRS womd RouR Eedsodd

© BRBOF LPTTT G030 1y’ LV

2,00 BB ERYE0D OB Fonsw e En

ATTNG. T3 L I

lg
3 4
4 iyl
(A) 3 (B) 3
3 2
(C) 5 (D) 3

dmeg R = % V=0100£5)V =3

1=(10+02) A, 8533, Beegl R 3T dnex

Besrd

(A) 52%
(B) 48%
© 1%
D) 3%

WO 200D #d:#%d S8
BRoDBROWOZ, 30° BeeIBY, 2w
OO Boedd DYp AICDAR, 300E
DR DREONG SRS FONPRFES 0-8.
200 BoedT PR wo 10 N, =TT,
200RONT 008, (g =10 ms2)

(A) 1kg
(A) 1kg
(B) 2kg B) 2kg
(C) 3kg (C) 3kg
(D) 4kg (D) 4kg
Space for Rough Work / 2,08 ivﬁi g
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9. Two particles of masses m; and my have | g, m;, ;1;.33 m, uag@e.i QOEY  Frangh
| kinets o . !
equa kmftm energies. The ratio of their e ﬁﬁmdi moa@:’ﬁ, SN
momenta is
ROWEN TSR
(A) my : g
B) my:m, ) my T
{B) m2 e ml
(©) (Jmp :{m
‘ : (C) Jmy : mg
g _3
(D) tmg (D) m?:m?
7 ¢ 2
10. The pressure at the bottom of a liquid | 10. TIICOT 0TS VY, wIBR) mdﬁ;
tank is not proportional to the s Shdbﬁjﬁtg,
(A) Acceleration due to gravity (A) ndHE Serinedze
= s
(B) Density of the liquid B) TIB WoT3
(C) Height of the liquid C) TP 22T
(D) Area of the liquid surface (D) BRS oeed B Dyyeeor
11. A Carnot engine takes 300 calories of L GEel motay, 600 K 2 Soes
heat from a source at 500 K and rejects 300 %mfa Mdd& 3riodogd, BB
150 calories of heat to the sink. The 150 ﬁzg,eiraea ORI ToD BRATE eI,
t ture of the sink i - R
emperature of the sink is Sﬂ&b&)ﬁ@ﬁd%&é@
(A) 125K (B) 250K
© 750K (D) 1000 K e \EAERE S
(C) 750K (D) 1000 K
12. Pressure of an ideal gas is increased by | 12. 0 UFIODY &TIF BAIOT 2IBITI),
keeping temperature constant. The BTN 90Ny 30 B
kinetic energy of molecules - X
(A) BRI SO
(A) Decreases
(B) Increases (B) émJb R
(C) Remains same (C) Dartecdoe Wmm
(D) Increases or decreases depending on (D) ©R0 PIE Bed BRI
the nature of gas B0 TR ST
Space for Rough Work / 2,883 3@%‘%5’
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13. A man weighing 60 kg is in a lift moving | 18, 2.2) ST 1-8 e R 2 FFR0DwN
: : 8 ma-2
down with an acceleration of 1.8 n.ls , 23O @w‘?@m 60 3.0 ﬁmo&mﬂﬁ,
The force exerted by the floor on him is
ToEs OF'S TRy o3I Bed
(A) 588N god:aeh:da# WOR)
(C) Zero (B) 480N
' C) 3Z»
(D) 696 N ) q
(D) 696N
14. Moment of inertia of a body about two | 14 LOTD  FODT udmmﬁ@, SIS
perpendicular axes X and Y in the plane Boegd i ©owemNdR X I Y egnon
: 2 2
of Samimn axe ) kg oi= Sngd @ oy esordeesN 20 kg m? B3 25 kg m?
respectively. Its moment of inertia about Fis
an axis perpendicular to the plane of the GNOZE, ToES & Q0B GFnsd
lamina and passing through the point of (X R V) BopAN Tone *‘&ﬁddﬁr%
interaection of X and Y axce 1s ©OWTNT FNIOTE), BTHODT K@
(A) 5kgm? (B) 45 kg m? Ebﬁ%ﬁ) Shlevking
2 2
© 125kgm? (D) 500 kgm? (g 2 sg (D) A g m
(C) 126kgm? (D) 500 kg m2
15. Two wires A and B are stretched by the | 15. RROYT BROOTI T 0&Ned A =B
same load. If the area of cross-section of B &N, ‘A’ 30803 e9me3e38 QR LRI
wire ‘A’ is double that of ‘B’, then the » * > x
Cbrocs oo Bis Qroserevamen B B @068 evotndd
QCBIW)
(A) Equal to that on A
(A) AT &fﬁdﬁ ASOTNTOZT
il el B) AT @IS o0w NS
) Ry ©) AT @33 e 3aso3s
(D) Four times that on A (D) AT 2BIT Tow), TERNTOZS
Space for Rough Work / 2,08 Gvﬁ’i %@
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16. The magnitude of point charge due to | 16. 2NC-! @Mmdﬁi‘@mﬁ? §e3,003 30 cm
which the electric field 30 ecm away has MGdQ&ﬁ 2,00 &Jci)ﬂ T $3e33 TRed
the magnitude 2 NC~! will be

' -11

(&) 2x101C el

-11
B) 3x10711C (B) §x10C

—11
(€) 5x10711C (G Bx 107 C

-11
@) 9x1011C . @) Fxlpel
” Flg . G 17. 1kg 02303®, 1V OPSBEY 2 C 533D

17. mass of 1 kg carrying a charge o is
]
accelerated through a potential of 1V. @iﬁdew SREL) BROOOE Senay
The velocity acquired by it is (A) 2 ms]
(A) 2 ms! (B) 2ms!
-1
1 J2
(C) E lIlS_l 1
® 2 ms ™1
(D) % ms 1
18, AT ﬁﬁﬁ@@% QOB VoD &53e3NnT

18. The force of repulsion between two SRS BeT Mowodde, v’ Gnﬂ% YN
identical positive charges when kept with WO ERFD WO F eSNTOIE PN
a separation ‘r’ in air is ‘F’. Half the gap 90300 wrﬁrda}%‘i TTITE, &’bd%?i}tdraedﬂ
between the two charges is filled by a V008 4 VB mdﬂ 3808 |

: : : . X e
dielectric slab of dielectric constant = 4. skesnd IB0S BET VIRFH WP
Then the new force of repulsion between ity eariant
those two charges becomes —— OR,Enose.

F F
@ = ® T @ 3 ®
3 2
F 4 F
© X i © 7 D) =5~
4 9
Space for Rough Work / 2,082 &'.Jﬁi %ﬁ:‘
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19. For the arrangement of capacitors as|19. 03RY ﬁ.@ft@ﬁ@&i& E”gpfaF DoBOTA,
shown in the circuit, the effective 30033 % 3 o038 o083 4 uF SAN
Q ¥

capacitance between the points A and B is
(capacitance of each capacitor is 4 pF) A L B ornd mﬁ% ReloSry

4= sﬂﬁmds&@mdﬁém@”
— 4 uF 4 uF
Ae— ———B _——4uF J“‘elp“F —T‘4pF
:Ii4p,F j_4qu Aer—9 }—<B i:4uF
_[_4uF T4uF
(A) 4pF (B) 2uF (A) 4 puF (B) 2uF
(C) 1uF (D) 8uF (C) 1pF (D) 8uF

20. om0 ADAPSB  Fedd oY, 20w

20. The work done to move a charge on an

equipotential surface is Alavkcy ﬁﬁﬁfﬁda‘% B SR FOTR)
(A) Infinity SN,
(B) Less than 1 A) ©303
(C) Greater than 1 (B) 1 303 5@
(D) Zero (C) 130303
©) 3eg
21. Two capacitors of 3 pF and 6 uF are [21. 3 pF 02 6 pF [BOT BB PoTBNYRY,
connected in series and a potential Besd nerdn SRBOINS. ﬁmaﬁ; 900 V

difference of 900 V is applied across the
combination. They are then disconnected

QYPETIOBORR®),  BodRNRT.  HodInY

and reconnected in parallel. The potential NO3REWS JRB DR JI:  A=Ro33
difference across the combination is ﬁmedﬁ&b@g&gjﬁ, IR P03 agfaagd
(A) Zero (A) m;;ﬂ 0)

(B) 100V (B) 100V

(C) 200V (C) 200V

(D) 400V - (D) 400V

Space for Rough Work / 2,08 iuﬁ% %%'*
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22,

23.

Ohm’s Law is applicable to
(A) Diode

(B) Transistor

(C) Electrolyte

(D) Conductor

If the last band on the carbon resistor is
absent, then the tolerance is

A) 5%
B) 20%
C) 10%
(D) 15%

22. WIS Q0RD TR

24,

(A)
(B)
(C)
(D)

B odna’
ST ()
aBR
T

2000 TWFS' TREPEE BRI WRE
Rodez TJulodn QPR wheFEn

IBIBYoID &30S,
(A) 5% (B) 20%
(C) 10% (D) 15%

83 391 20e030R OB P 33 Q N

24, The effective resistance between P and Q a:bq% oM h%d@fd@
for the following network is &
R
3Q 3Q
3 Q 3 Q
VW 6O
6 Q
4 Q 5Q
4 Q 5Q
P Q
P Q
@ Lo B) 210
@ 0 B) 210 12
. © 120 (D) - 0
C) 12Q D) —Q 21
21
Space for Rough Work / 2.0 Gvﬁi 3
Physics (9-A)

gcollegedunias

T



25. Five identical resistors each of resistance

(C)

R = 1500 Q are connected to a 300 V
battery as shown in the circuit. The
reading of the ideal ammeter A is

3{)01,7%__ R%R R <R <R
A _

A

(A) (B)

o=
o
| o

| o
>

(D)

o |
>

25. R = 1500 Q@ b3 wode

wiaL 5
CRepnds) 300V wRudR  weednd
BRBOOJYTD TFPrF DoBOTE) BReORT.
STJF BEFTT (A) DeRor®

% s
300V -

(A)

[ S
>
&

[ B ]
>

(C)

ot b
N

26. Two cells of internal resistances r; and ry | 96, o0 5..0=F. AT, DY 0B Beesny
¥
and of same emf are connected in series, 30308 BRI ry B ry VW, FRINTD,
across a resistor of resistance R. If the R d.rafd@%‘{, mfdﬁﬁ &ﬁ%mﬁ Jeed Porré)
terminal potential difference across the HReRRUONG. 0308 B r, 3 fﬁd&%
cells of internal resistance r is zero, then BWFITT 0033 B mendods.
the value of R is Tonas, R S 43S
(A) R=2(ry+ry) (A) R=2(r; +19)
B) R=ryg-r; (B) R=r9-ry
(C) R=r1—r2 (C) R=r1_r2
D) R=2(ry-
(D) R=2r;-ry) o R
Space for Rough Work / 2.0 @Oﬁi%@
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27. The 1-V graphs for two different |27. P 303 Q 20w TR FPINE 1 -V J§ 83

electrical appliances P and Q are shown 39n3083. Rp 3535 Rq Ay o
in the diagram. If Rp and Rq be the 8

resistances of the devices, then draedﬁﬁ%hq)d
! Q ! Q
P e
I I
8) v ; 0 Vg
(A) Rp=Rq (B) Rp>Rq (A) Rp=Rgq (B) Rp>Rg
(C) Rp< D) Ro=Q Rq
p<Rq p== (C) Rp<Rgq (D) Rp=—%

28. The correct Biot-Savart law in vector 28 si0inEs ﬁ&ﬁﬁ‘w 3 o3

form is
RB0BTEoRR0, AT CRITEA,
= 1@l x 1) E .
Ho
(A) dB =
dx 2 (A) dE _ho Id sz r)
- = 4n T
- I(dl xr) S b
(B) dB =10 ok
4n rd (B) dB = Mo [dlxr)
4n r3
2 Id?r >
(C) dB =1L i
in g2 @ dB =0 ¢
4r rz
e 1 ;
D) dB =10, -
= dn ~ 8 (D) dB =10 .Idsz
4rn r
Space for Rough Work / 2,08 eozhl %@
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29. An electron is moving in a circle of radius

30.

31.

r in a uniform magnetic field B. Suddenly
the field is reduced to —g . The radius of

the circular path now becomes

r

(©) (D) 4r

W |~

A charge q is accelerated through a
potential difference V. It is then passed
normally through a uniform magnetic
field, where it moves in a circle of
radius r. The potential difference required

to move it in a circle of radius 2r is

(A) 2V (B) 4V

C) 1V (D) 3V

A cyclotron’s oscillator
10 MHz and the operating magnetic field
1s 0-66 T. If the radius of its dees is 60 cm,
then the kinetic energy of the proton

frequency is

beam produced by the accelerator is

29. B A R0FFEFRY ol HRF, 1

3RTY FITD, WORTT. SFeer3e) To03F e

B
5 O, sadanrbyd. F33 nwy

WTORYT

@A) = (B) 2r
2

(C) i (D) 4r

80. V OPmoo30nd) wordd q eﬁeﬁdab%

31.

BFOTEET  IRRTN, XD 5003 FeI3TRE),
TTRS SN r SUIY FIBE, B8OI.
[2B &% 2r &3V, WORe Wewora
WIe003T Sea'igd

(A) 2V (B) 4V

(€ 1V (D) 3V

WOz RERENDT  LoBRVS BRIFIY)
10 MHz 03] daF Br50 5003ge3 ) 0-66 T
QTOII. AR D nd w60
Ho.coe. QTFD.  TRET  FBREBI
SertpeERrsnes Fpewa mous) JE
BN BT 3303w

(A) 9 MeV (B) 10 MeV
(A) 9 MeV (B) 10 MeV
(C) T7MeV (D) 11 MeV
(C) 7MeV (D) 11 MeV
Space for Hﬁugh Work / 2.8 Goﬁ% B
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32. Needles N;, Ny and N3 are made of a
ferromagnetic, a paramagnetic and a
diamagnetic substance resbectively. A

- magnet when brought close to them will

(A)

(B)

(C)

(D)

Attract all three of them

Attract N, strongly, Ny weakly and
repel Ng weakly

Attract N; strongly but repel Ny
and N3 weakly

Attract N; and N, strongly but
repel N3

33. The strength of the Earth’s magnetic field

18

(A)

32.

33.

Pee, TP I BIR  Hodod
BRONPOTOW Ny, Ny 3023 N 002 30R00
ReRnish. 31 RenY BT 1.om> TSR,
30533 |

(A)  QOTIR, SBAFROZT

(B) N; & wome osarAdZd Ny &
gessoaon 08y Ny B3I gersosmon
DBAFROBTI

(C) N; &, 2OmN SBAFAZE SBE Ny’
03 N ) gersosmon QBRI

(D) N; &3 N, nd,  wowmen
SBRFROZE 8BS Ny o)
QBRI

=£

RR0OD F0BFeZw)

(A) QR IR worde BNTOTH

Constant everywhere
B) oo 3d dns, SN
(B) Zero everywhere
(C) 2ooww ﬁmﬁp&gd
(C) Having very high value
D) gomod g, Fed 0w
(D) Varying from place to place on the %@&ocﬂ ,.ac-\ggom %%g% e
Earth’s surface 47533
Space for Rough Work / 2,083 Guﬁi %@
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34. A jet plane having a wing-span of 25 m is | 84. 26 m Qo W IRPYY, word e
OBRIP 3600 km/hr WeRsd 83w
TpRFE WO 50032JeBY 4 x 104 T
DB Fo0SI3 30° [N, VoS TR
007 255entoss Dyfeodde)

travelling horizontally towards east with
a speed of 3600 km/hour. If the Earth’s
magnetic field at the location is 4 x 1074 T
and the angle of dip is 30°, then, the
potential difference between the ends of
the wing is

(A) 4V
(B) 5V
C) 2V

(D) 25V

35. Which of the following, represents the
variation of inductive reactance (X;) with

the frequency of voltage source (v) ?
Xy,
(A)

/.
o Hes
I

.

X "
(D) e [L)

(C)
v

v
14
v

35.

(A)
(B)
(C)
(D)

4V
5V
2V

25V

INIYNTY, R, FBE 00IRE®, (Xy)
Bedn OYS 8F 80D (v) FFT]R 30003

(A)

(B)

(C)

(D)

Space for Rough Work / 2,083 ivﬁ% g
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86. The magnetic flux linked with a coil [ 36. Jo303 ROTYR TooIFeS, Qﬁ‘;
varies as ¢ = 3t + 4t + 9. The magnitude o = 3t2 + 4t + 9 RoZFrawen, t = 2
of the emf induced at t = 2 seconds is
RBOBIY VO AWT  Y.AXF T I
(A) 8V : RED
(C) 32V (B) 16V
(D) 64V (C) 32V
(D) 64V
37. A 100 W bulb is connected to an AC [ 37. 100 W & 2.0z mm 220 V, 50 Hz Q0=
 source of 220 V, 50 Hz. Then the current DR OHE  ©30E EReRImn &3
flowing through the bulb is | g =
BT i R 59088 BocHoE DT
5
A) —A
e 11 (A) ) A
13
B La L ¢
9 (B) ) A
(C) 2A (C) 2A
g
D) —-A
@ 2a 2,
4
| 38. 3¢5 LCR FTPHFTOOBOTE  OSRRTT
38. In the series LCR circuit, the power
dissipation is through B0T030 mabqsﬂi- B m‘ﬁ)d)
(A) R (A) R
(B) L (B) L
(C) C (C) C
(D) BnthLandC D LC
Space for Rough Work / .08 '-’g)!di X
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39. In Karnataka, the normal domestic power

supply AC is 220 V, 50 Hz. Here 220 V
and 50 Hz refer to

89. ITFUWBRY T evTodeerison WIRT AC

QWT 28Fod0 220 V, 50 Hz, |0o3ss.
TMTT 9§, 220 V 033 50 Hz 0333

: _
(A) Peak value of voltage and frequency A) :Dz;fdd%oﬁ ﬁ@&ﬁgw%@
(B) rms value of voltage and frequency (B) PG rms L3S I 3
(C) Mean value of voltage and (©) QPIT Roe%0 B3S R E% 8
frequency . i T
D)  PIT Zon B¥S R Bees e
(D) Peak value of voltage and angular
frequency
40. A step-up transformer operates on a #0. 330 SRR Sy SN2 N CRee
230 V line and a load current of 2 A. The “fbmag BROQTOD DOF TORIFFT TS
ratio of primary and secondary windings 0B TR Qﬁf@ﬁ 309N e20T3)
;: 1: 25. Then the curreni_: in the primary 1: 95 ta%d B3 :bm@q’ 2800
DTS Twod
(A 25A il
(B) 50A (A) 25A
(B) 50A
(C) 15A
(C) 15A
(D) 125A
(D) 125A
41. The number of photons falling per second
on a completely darkened plate to|41. 662x10° N uoaﬂdg{ SUTDRED BoTPEIF
produce a force of 6:62 x 10° N is ‘n’. If % =
the wavelength of the light falling is #%ﬁd)d 3%@%&0& o S0 s
5x 107" m, thenn = x 1022, ReVICTT  FPEOT NG ﬁo&% ‘n’ &N,
(h = 662 x 10734 J-s) W3S 3oon BWRTR) 5 x 107 m tha@d
@ 1 n=__ x10%2. (h=662x10734Js)
A
B) 5 i
(B) 5
(C) 02
(C) 02
D, 43 (D) 33
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42. An object is placed at the principal focus | 42.. &% c:fadr £9%3 Eﬁ,@fﬁ Ronad 230::13-5&631‘;;
of a convex mirror. The image will be at 2,033 mﬁd% fa&.s%ﬁ, 538 TSV o€,
(A) Centre of curvature RT3

A) TwSe Feors
(B) Principal focus . ) R i

(B) R5OS RONIO WD
(C) Infinity

(C) B e
(D) No image will be formed D) B3wow FRBTOL,

43. An object is placed at a distance of 20 cm | 43. 20> [AW/IY, 10 Fo.doe.  Fonw
from the pole of a concave mirror of focal TRTBNTOT 2,080 Eﬁd@ TIFW  BW0OTS
length 10 cm. The distance of the image 20 Ro.cwe. BRUBEY [BOONB. T
formed is SUOLDT/RBIT T[SWoWT TRTH)

(A) +20cm (B) +10cm Slalobring
A 20 B 10
(©) -20cm (D) -10cm: ol iy W e
(C) —-20cm (D) -10cm
2 X

44. A candle placed 25 em from a lens forms 44. 2,000 TRRTOOE 25 om wuédd%&d
an image on a screen placed 75 cm on the e WD géﬁow@ SORRTT
other side of the lens. The focal length ’&Rﬁ@f.‘ndb B@R 75 cm ©o3TTE) FEOIT.
and type of the lens should be TMOET WHAT &RAT BN &0B)

- ==
(A) + 1875 ecm and convex lens Naﬂ&mdﬁ%' _

(A) eI ORRT IR +18:75 cm
(B) - 1875 ¢cm and concave lens

(B) Q30,0700 &3 ~18:75 cm
(C) + 20-25 cm and convex lens ‘

(C) &eS TORAT & +20-25 cm
(D) - 20-25 em and concave lens (D) ?)dgtﬁ)fa@d 3 ~20-25 em

Space for Rough Work / 2,083 icﬁi 3
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45. A plane wavefront of wavelength A is

47.

incident on a single slit of width a. The
angular width of principal maximum is

21

(A)

A (B)
a

(C) (D)

o
A 2\

In a Fraunhofer diffraction at a single
slit, if yellow light illuminating the slit is
replaced by blue light, then diffraction
bands

(A)
(B)
(©
(D)

Remain unchanged
Become wider
Disappear

Become narrower

In Young’s double slit experiment, two
wavelengths Ay = 780 nm and
Ao = 520 nm are used to obtain
interference fringes. If the n'® bright
band due to A; coincides with (n + 1)
bright band due to Ay, then the value of n

18

45.

47.

A ZOorwoZTRY, IToMBODIJI), 0B
2esbroRoD e TIOWAT. ePROBOD
onw a SN0Y Il DTS ﬁtgdod}
EReA0D BNY

2\

a

(A) (B)

a

21

DT AOMOR TR TOFOT ARBFIODE,
2eSD TOORODTY, WINATOR BYD VT
WS wodR  ed  wnm wEEy
UTO3RENATT, DB[IFS 23,0 N

A) gz 3dIss

(B) eRoNID

(C) BEITNOSI

(D) #0worIss

©) (D)

b B

odore QaesbroR B,03ReN3E),
A = 780 nm @3 Ay = 520 nm
300rwo30E V8>  svIodeeny  BRomd
WIS [38Ted oL FweRe. nth
ZFBREIoD ZorwozdT Ay Ee3R (n + Db

TFBBLIOD Ay WeIRRRTRR, n I B3S

B) 3 (B) 3
©) 2 C) 2
(D) 6
(D) 6
Space for Rough Work / %08 3@:5#5 2
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48. odon's Quednon Bodrenad),
Sesbnoadnd [BNIS @033 2 mm,
pesorior I ToBoDd SRS 033
12 m @& 6500 A &I 5200 A

48. In Young’s double slit experiment, slits
are separated by 2 mm and the screen is
placed at a distance of 1:2 m from the
slits. Light consisting of two wavelengths

6500 A and 5200 A are used to obtain 3dormoddnty O Bedodd
interference fringes. Then the separation WFER0T0O0EDRE mtﬂmm BT
between the fourth bright fringes of two 30T IBT 9030

different patterns produced by.the two

. (A) 0-312 mm
wavelengths is
(B) 0-123 mm
(A) 0312 mm
(C) 0213 mm
(B) 0:123 mm
(D) 0412 mm
(C) 0213 mm
(D) 0412 mm
49. Ppeddp oSEPS  nox  WoSBIeRD
49. The maximum kinetic energy of emitted RS AT
photoelectrons depends on

(A) Intensity of incident radiation (A) TR HTT éfgé

(B) Frequency of incident radiation (B) &3 VT SRS

(C) ‘ Speed of incident radiation C) I3 3063 Sen

(D) Number of photons in the incident
radiation (D) &3 ITVHTYT FpetPINY B05,

Space for Rough Work / 2.0 $0%% 3¢
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50. A proton and an a particle are accelerated

51.

52.

through the same potential difference V.
The ratio of their de Broglie wavelengths
is

v2
22
J3
23

(A)
(B)
(C)

(D)

The total energy of an electron revolving
in the second orbit of hydrogen atom is

(A) -136eV
(B) -151eV
(C) -34eV
(D) Zero

The period of revolution of an electron in
the ground state of hydrogen atom is T.
The period of revolution of the electron in

the first excited state is
(A) 2T
(B) 4T
(C) 6T

(D) 8T

50. %oTe OPeo3T V 8 2080 Fpetnd

51.

52.

DX a-BeNIR) @D  BrawR,

LRING Be 2N 3007038 0TS,
J2

242

V3

243

(A)
(B)
(C)
(D)

RARLEYT  TORPEONT TES BFODE,
DTTVT 40 B8

(A) -136eV
(B)
(C)

(D)

- 1:61eV
-34eV

Zero

RRR WS TOBPEDITEY, e
AS0DODT HTFY  ATEDen IR
Botdn ©=0 T, 08, B0 ¢vdess
AS0DQ ST ROZTTODT &TQ

(A) 2T
(B)
(C)

(D)

4T
6T
8T

Space for Rough Work / 2,083 évﬁi %’i‘
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53. The energy equivalent to a substance of
mass 1 g is

(A) 18x1013J
(B) 9x103J
(C) 18x10%J

(D) 9x108J

54. The half-life of tritium is 12'5 years.
What mass of tritium of initial mass
64 mg will remain undecayed after
50 years ?

(A) 32mg
(B) 8mg
(C) 16 mg
(D) 4mg

55. In a CE amplifier, the input ac signal to
be amplified is applied across

(A) Forward biased emitter-base
junction

(B) Reverse biased collector-base
junction
(C) Reverse biased emitter-base

junction

(D) Forward biased collector-base
junction

53.

54.

56.

1 M0 D8R B> B8

(A) 18x1013J
(B) 9x1013J
(C) 18x108J
(D) 9x%x105J

E3Q0DOD LPOFOINRY 12:5 WRFNFONT.
64 mg TRVOLT TF0E0WNTOT €300
@ﬁgja_.ﬁdnm 50 SRrnY J030 aﬂw%&aﬁd
orie LVPRTOIT ?

(A) 32mg

(B) 8 mg

(C) 16 mg

(D) 4mg

JodnRFodd ac @Cﬂ%@:‘ krjp‘ 3‘2( CE
SORFODNT'IY, TTRFILD STOWAT

(A) TRUREF WODA, Q0TI
2OER® -

(B) OmIF WODAT, TSTO-X° WOFS®

(C) BBFF  WOPR,  IDOWC'-F
ROFR®
(D) FTOREF  WODXE, ﬁdﬁjc‘-zsm*

el
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56. If A =1 and B = 0, then in terms of |56. A = 1 &3 B = 0 &38, 0900

Boolean algebra, A+ B = Dexnes3E BEOA + B =
(A) B (A) B
(B) B (B) B
) A (et
® & R ad

57. Bpemod  TIINIBY, womd BT,
HgeEderAOORY, AW - Tog
BReBoL FoBBc3 3 x 1016 m3 &g,
OTF),  BURNOIADORT Bre®
Snemon 805, FomBo30 45 x 1022 m3

57. The density of an electron-hole pair in a
pure germanium is 3 x 1018 m3 at|
room temperature. On doping with

aluminium, the hole density increases to

45 x 1022 m—3, Now the electron density SR), BRRZB BN B3 R SN
(in m~3) in doped germanium will be - Rgeoddoes a@ﬁﬁ, ploatc! (m‘3 5@,)
N ;
(A) 1x1010 Bhosge
10
(B) 2x1010 P 5
(B) 2x1010

(C) 0'5x 1010
(C) 0-5x 1010
(D) 4 x 1010

(D) 4 x 1010
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58. The dc common emitter current gain of a | 58. n-p-n ERIVTI® ToWY® DAWO® FOOLF
2-;-11 transisrrd is 50. h‘Thqell putentia; 73;'355‘ 50. CE 03 dndﬁa'b@m
ifference applied across the collector an
emitter of a transistor used in CE Sodeenad  QyEo3cy)  Veg = 2V.
configuration is, Vop = 2 V. If the 363&;‘5 BReGw) Re = 4 kQ, &S00, B35
collector resistance, RC =4 kﬂ, the base 23083 (IB) dag?p ﬁ Sego* 28 083* (IC) o3>
current (Ig) and the collector current (1) et o
are
(A) Ig=10pA, Ic=05mA (A) Ig=10pA, Ic=05mA
(B) Ig=05pA, Io=10mA (B) Ig=05pA, Io=10mA
(C) IB=5|,LA, Ic=lmﬂ (C) IB=5|.LA, IC=1111A
(D) Ig=1pA, Io=05mA (D) Ig=1uA, Ig=05mA
59. The radius of the Earth is 6400 km. If the | 59. ¢Pd0H &ty 6400 km &NTD, 20T
height‘.‘ of an antenna is 500 m, then its S083eTT di 500 m 538, 333 &,
range is
(A) 800 km B B0 K
(B) 100 km
(B) 100 km
(C) 80km
SUNE L (D) 10km
(D) 10 km
60. A space station is at a height equal to the | 60. 20T R¢F*  RexD* ATV &%T
radius of the Earth. If v is the escape T agdd@mﬁ. Vg PRMOOD ﬁ:eqﬂjd
velocity on the surface of t-he E.arth, the AR deﬁmﬁ%@i oy  LexF
same on the space station is ol e =
times v, %fwa‘ﬁﬁﬁ i Uf Od:)eﬁﬁ"; AROINOSBLI.
1 1 1 1
= = A) = B) =
(A) 5 (B) i (A) 5 (B) 2
1 1 1 1
(C) — D) — ©C) — D) —
7z - ) 75
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=Rk ,
LooYD" W3S TIobY B Tes TIHY SOIWNDE vawl KoL, W) B¥h wode uNtod om mdnzd ¢Pesortag,
8088 edpndedod & I, BFobD, AR 28 Ber ¥T Fo3Y, Loud B. 10.30 T FoIT BBIHIYTD.

L.
2.
3.

mERs, HSed JoeE — 2018
(ALEle oD BoH
19-04-2018 25‘:!!@5 23. 10.30 oo 11.50 B =3R

RAFR® daen

noy wown Wil I IO [T noy =
60 80 Qo 70 QouAnish

Eaa.bh 2083 ﬁnasﬁoiaed:_l 28000

AR DeRADT FETIID D) L.20.80". IC TdFod JIFT deea Lot SNDJHT, odTAXERE,

4. I3, T3Pod IAFT doer W) TH FoPohR, WIS BrerIY Iud LB,

2

L.00.00°. $0E0 TdFod IVERND N0 mrnY Tenr Th SRESR.

wSRuden

L
2.

90 3 o Ln

10.

L2060, 4030 Jhodd) IOITHNDRT WO TRTFI, IFINOED / HWIRBROD / VO,
Do o' 4. 10.40 § oroId, vPohIdie,
* T3 JIPFoD WOPNBINT reer em, IRoDRTD,
o I3 J3ad wnd AT JYVE, Intder Tobs KO,
*  L.o0.sT. w030 TdFad 3D TRUOPRIRTD.
aw@rﬂ@ﬁ mca)ﬁ nREsned
T8, JFBeBnY by 60 JAY, T2 IR 4 wad oy wITRH WSS, _
Sddc Ko soo0 . 10400 J03T TP, HIod LORNTYDTE s I T TP, BIBoHY cRFe HRAL SOFTNYTe
LI o@D woTY e FOW TGO UTm oI LoD wp@eehtiobe OB, DUITAVERCR, B Oed CSllate
BeBde 408 DHedposoor TP TIFoLT, WBMORIBRY, TFoIT  L.D0.HT. NIV TIFNY LVBDTD WBOPWHT. i
TodS 70 IWANTY
e I3 T30, 2xdddabog L.
° T3 JFoDH 3R doyihs Moy wd vokiodh LItRYY KooIRE LIS, Yol ERa.
. TF, WIFODYT TI71 ORDOETRNMS O LOITHM, L2080 IT TPobE wle FH RoLod Tood VeADT TowoPAT
S, VD uFT ¥ Teood R’ Ao FTROT Xozwrr DO,

OSSR 3%, $rich wrows mETHODS
I s ®eoe ceeod ce e
@ ® ©C0lepewpeoe ®®eo

8 L.oouD. w30 IFFoRT, WS IN@DI W S0 wBY IeE NS Ay DO, X PDOWIB, YGHoT b.oo.sTr. wIB
TEoDY wIDTIN Fos Tk,

T, TFoDY B O IR, O BURE wToleeNA. L.90.8T7. 03T T3fob W, 9nE evHcieehzded.

tafdod o' somd 8. 1150 &3 oo WIORFHTE, Q. V), 2Ty BPTY THHIR, O WATY Td.

L.20.8T. WD BFoh, dovh DHedinosdn chmpyiobd Dedo. :

8RER DegmUtdd HeRnn Yo, IFsy (Fao TI) 3, IIOY wepfeomd WD CHTPTICHM, (LHPFod )
aq‘tarmﬂ Hoho aﬁ%mmmgn #Han momm Lic-kple]

eug0 J8fod IOF), Lo JIIF Y Aodzeh 2a.

BE egdoh TAAYY NIONT eHOFNR NEDY SOITNDS IRV wf omote FodEagQ [ofeE  uF oD
T3 Eagod, IncdwId.
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